
 Battery Mount

 BM-EN600

B
M

-E
80

16

SHIMANO
CODE NO.

DESCRIPTION

1 Y7HY00030 Screw (M4 x 8.5) A

2 Y7HY98010 Key case unit A

3 Y7K29801T Screw (M5 x 11) A

4 Y7HY00040 Key unit spacer A

5 Y7HY00090 Screw (M3 x 5) A

6 Y7HY00380 Screw (M3 x 9) A

Y7K298010 Upper case assy 250 mm
Y7K298020 Upper case assy 300 mm
Y7K298030 Upper case assy 600 mm

8 Y7K39801T Lever
9 Y7K29802T Lower case fixing screw F A

10 Y7K29803T Lower case fixing screw R A

11 Y7HY00190 Lower case washer A

12 Y7HY00200 Lower case rubber A

13 Y7K298040 Lower case assy
14 YEZY00014 TL-BME02 Battery mount setting tool A

A: Same parts. Nov.-2022-4977

B: Parts are usable, but differ in materials, appearance, finish, size, etc. © Shimano Inc. I

Absence of mark indicates non-interchangeability.
Specifications are subject to change without notice.

ITEM
NO.

INTERCHANGE-
ABILITY

7


